Flashchk U Week 1 Day1

What is |0 X 77

Work out 90 = 10

What is seven multiplied by one?

Find the perimeter of -3 cm

the rectangle. 12 cm
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What is IO X 7?7 70

Work out 90 =10 9

What is seven multiplied by one? 7

Find the perimeter of -3 cm

the rectangle. 30 cm 12 om
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Work out Il X 7
What is 63 = 77

What is nine multiplied by zero?

Find the perimeter of . .
the square.
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Work out Il X 7 77
What is 63 — 7? 9

What is nine multiplied by zero? 0

Find the perimeter of . .
the square. 16 cm
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What is 3 X 127

Find 36 — 6

Six divided by six is equal to?

Find the sum of 3,482 and 1,963
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What is 3 X 12?7 36

Find36 -6 6

Six divided by six is equal t0? |

Find the sum of 3,482 and 1,563 5,045
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Work out 3 X 3 X Y

What is nine multiplied by eight?

12 = | is equal to?

Work out 3,924 — |45l
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Work out 3 X 3 X 4 36

What is nine multiplied by eight? 72

12 = lis equal to? 2

Work out 3,924 — |45l 2,473
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Complete the factors of 15
1, 3,

What is 7 X 3?

Work out fifty-four divided by six

q kilometres = metres
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Complete the factors of 15
1,3, 9 , 15

Whatis 7 X 3? 2

Work out fifty-four divided by six

9 kilometres =__ 9,000 metres




